Connection elements | Aluminum Framing 9.0 3-7

Flange nut
T-bolt

() [ [

ESD

» Secure and conductive connection

» Notch at bolt end as marker for correct position
recognition

— Profile finishing: Not required

Technical data (p. 18-11)

00109373

Flange nut Slot M ESD i\ No.

8 M6 #& 100 3842523925

1/4-20 & 1 8981021465

014 SW10 021 Swi3

10 M8 @ 100 3 842 345 081

L[] q |_|_ . wl 5/16-18 (@& 1 8981021464

Material: Steel; zinc-plated

00109377 00109379

M Slot t T-bolt Slot MxL b (mm) |(mm) ESD i No.
Fmax
] 8 M6x16 10 14 @ 100 3842523920
Q 8 4000 N M6x20 14 18 @ 100 3842523921
- 10 6000 ... 18000 N1) M6x25 18 23 (& 100 3842523922
1) Depending on profile (p. 18-11) 10 M8x20 14 14 (& 100 3842528 715
_TW7 M8x25 19 19 @ 100 3842528 718
LJ ‘ M8x30 24 24 & 100 3842528 721
00109380 M8x40 22 34 @& 100 3842528 724
M8x50 22 44 (& 100 3842528 727
M8x60 22 54 (& 100 3842528 730
Material: Steel; zinc-plated

Bosch Rexroth Corporation, R999001283 (2020-09)



3-8 Aluminum Framing 9.0 | Connection elements

30300

00109380

014 SW10 021 Swi3
T o 1 -
00109377 00109379
* =T
Fmax
a 8 4000 N
- 10 6000 ... 18000 NV
1) Depending on profile (p. 18-11)
I )
N,

Bosch Rexroth Corporation, R999001283 (2020-09)

T-bolt fastening kits

» Include T-bolt and flange nut

Slot MxL b I ESD i%i No.
(mm) (mm)
8 M6x16 10 14 & 1 8981019577
M6x20 14 18 & 1 8981019578
M6x25 18 23 @& 1 8981019579
10 M8x16 14 14 @& 1 8981021342
M8x21 19 19 & 1 8981021343
M8x26 24 24 & 1 8981021344
M8x36 22 34 & 1 8981021345
M8x46 22 44 (& 1 8981021346
M8x56 22 54 (&) 1 8981021347
5/16- 13 16 @ 1 8981021554
18x3/4
5/16-18x1 16 19 @ 1 8981021555

Material: Steel, zinc-plated



3-6  Aluminum Framing 9.0 | Connection elements

20780

221
|
- M
oSN
2_}

SW13 T40

20781

Bosch Rexroth Corporation, R999001283 (2020-09)

Collar screw

ESD

» Collar screw with multi-function head for tightening with
ring/open-end wrench (WS 13) or Torx screwdriver (T40)
Machine tightening possible

Preferably to be used for fastening brackets

Quick and simple assembly

Excellent force transmission via the wide flange
ESD-capable

— With Polyfleck to secure the T-nut

Tools:

Offset screwdriver (p. 14-5)

vvyVvyTyvyy

Accessories:

T-nut (p. 3-4)

Collar screw M L (mm) ESD % No.
M8x18-SW13-T401) M8 18 @ 100 3 842 541 246
M8x20-SW13-T402) M8 20 @ 100 3 842 541 409

1) For 40/40 and 60/60 brackets
2) For all other brackets for 10 mm slot

Material: Steel; zinc-plated



s6 T 10Nm
s8 U 25Nm

s12/M12 T 35Nm

Connection elements | Aluminum Framing 9.0 3-43

Central bolt,
Anti-torsion element, cover cap

&) [55] [<5] [

Central bolt

» Best-value connection element

» Self-tapping screw, can be mounted without profile
finishing

» Profile finishing:
— Thread cutting for M12x30 screw
— Through-hole for screwdriver/offset screwdriver

Tools:

S6x16-T25 D58 » Offset screwdriver (p. 14-5)
S8x25-T40 D7.8 » Hex head screwdriver
M12x30-T50 D9,8
$12x30-T50 D9,8
36897
S$6x16-T25 $8x25-T40 Central bolt (mm) Slot ESD il No.
S6x16 . S8x25 o T40 S6x16-T25 B T25 6 (& 100 3842528593
2 @ 05 mm @ (self-tapping)  [@] 4 6 (@ 100 3842523968
| ©4mm L =
ot @ = @ S8x25-T40 ] T40 8 (@& 100 3842527174
oo | oo (self-tapping)  [@] 5 8 (& 100 3842523970
i i - —_—
s6 ‘ Material: Steel; zinc-plated
S8
00111386 0011387
M12x30-T50 & $12x30-T50 Central bolt (mm) Slot ESD i No.
M12x30 3 T50 S12x30 & T50 M12x30-T50 § T50 10 (&) 100 3842530235
o8 mm @ o8 mm @ @ s 10 (@ 100 8981021301
e @ == @ $12x30-T50 B T50 10 @& 100 3842530 236
T o 1 o (self-tapping) | @] 8 10 (@ 100 8981 021 302
i @ : @ Material: Steel; zinc-plated
B L)
M12 S12|(210,7)
00111388 00111389
Size

[=

o

S6 500 N 8 Nm
S8 800 N 43 Nm
S12 1300 N 80 Nm
M12 3000 N 80 Nm

Bosch Rexroth Corporation, R999001283 (2020-09)





